Generalized Coupled Fibonacci Sequences of rth Order and their Properties

Krishna Kumar Sharma Department of Mathematics Inderprastha Engineering College, Sahibabad (U.P) India Vikas Panwar
Department of Mathematics
Gautam Buddha University
Gautam Budhha Nagar (U.P)
India

Sumit Kumar Sharma
Department of Mathematics
Bhagwati Institute of
Technology & Sciences
Ghaziabad (U.P) India

ABSTRACT

Among numerical sequences, the Fibonacci numbers have achieved a kind of celebrity status with such fabulous properties, it is no wonder that the Fibonacci numbers stand out as a kind of super sequence. Fibonacci numbers have been studied in many different forms for centuries and the literature on the subject is consequently, incredibly vast. The Fibonacci sequence has been generalized in a number of ways. The purpose of this paper is to demonstrate many of the properties of Coupled Fibonacci sequences of rth order, which can be stated and proved for a much more general class.

Subject Classification: 11B39, 11B37, 11B99.

Keyword

Fibonacci sequences, Coupled Fibonacci sequences

1. INTRODUCTION

Fibonacci numbers have been studied in many different forms for centuries and the literature on the subject is consequently, incredibly vast. The Fibonacci sequence has been generalized in a number of ways. In 1985, Attanasov [1] introduced a new view of generalized Fibonacci sequences by taking a pair of sequences $\{\alpha_i\}_{i=0}^{\infty}$ and $\{\beta_i\}_{i=0}^{\infty}$ which can be generated by famous Fibonacci formula and gave various identities involving Fibonacci sequence called the coupled Fibonacci sequences. With some initial values a, b, c and d four different schemes [2] were defined as below $\forall n \geq 0$.

The four schemes are following

For
$$\alpha_0 = a$$
, $\alpha_1 = b$, $\beta_0 = c$, $\beta_1 = d$

First scheme is

$$\alpha_{n+2} = \beta_{n+1} + \beta_n \text{ and } \beta_{n+2} = \alpha_{n+1} + \alpha_n, \forall n \ge 0$$
 (1.1)

Second scheme is

$$\alpha_{n+2} = \alpha_{n+1} + \beta_n \text{ and } \beta_{n+2} = \beta_{n+1} + \alpha_n, \forall n \ge 0$$
 (1.2)

Third scheme is

$$\alpha_{n+2} = \beta_{n+1} + \alpha_n$$
 and $\beta_{n+2} = \alpha_{n+1} + \beta_n, \forall n \ge 0$ (1.3)

Fourth scheme is

$$\alpha_{n+2} = \alpha_{n+1} + \alpha_n \text{ and } \beta_{n+2} = \beta_{n+1} + \beta_n, \forall n \ge 0$$
 (1.4)

In recent years many authors have been generalized coupled Fibonacci sequences in third, fourth and fifth order. In this paper, the coupled Fibonacci sequence has been generalized for rth order with some new interesting properties.

2. COUPLED FIBONACCI SEQUENCES OF rth ORDER

Attanasov, K.T.[1][2][3] introduced new generalized coupled Fibonacci sequences.

In the same way, here we let two sequences with initial conditions

$$\alpha_0 = a_{0}, \alpha_1 = a_{1}, \alpha_2 = a_{2}, \alpha_{r-1} = a_{r-1}$$

and
$$\beta_0 = b_0$$
, $\beta_1 = b_1$, $\beta_2 = b_2$, $\beta_{r-1} = b_{r-1}$

Then generalized coupled Fibonacci sequences defined by

$$\alpha_{n+r} = \sum_{i=0}^{r-1} \beta_{n+i} = \beta_n + \beta_{n+1} + \beta_{n+2} + \beta_{n+3} + \dots + \beta_{n+r-2} + \beta_{n+r-1}$$
(2.1)

$$\beta_{n+r} = \sum_{i=0}^{r-1} \alpha_{n+i} = \alpha_n + \alpha_{n+1} + \alpha_{n+2} + \alpha_{n+3} + \cdots + \alpha_{n+r-2}$$

First few terms of the sequences are given below

	lew terms of the sequences ar	
n	α_{n+r}	$oldsymbol{eta}_{n+r}$
0	L	
0	$b_0 + b_1 + b_2 + \cdots b_{r-1}$	$a_0 + a_1 + a_2 + \cdots a_{r-1}$
1	$(a_0 + a_1 + a_2 + a_3)$	$(a_1 + a_2 + a_3)$
	$+\cdots+a_{r-1}$	$+\cdots+a_{r-1}$
	$+(b_1+b_2+b_3)$	$+(b_0+b_1+b_2)$
	$+\cdots+b_{r-1}$	$+\cdots+b_{r-1}$
	· · ~ r - 1)	· · · ~r-1)
2	$(a_0 + 2a_1 + 2a_2 + 2a_3)$	$(a_0 + a_1 + 2a_2 + 2a_3)$
-	$+\cdots+2a_{r-1}$	$+\cdots + 2a_{r-1}$
	$+(b_0+b_1+2b_2)$	$+(b_0+2b_1+2b_2)$
		$+(b_0 + 2b_1 + 2b_2)$
	$+\cdots+b_{r-1}$	$+\cdots+2b_{r-1}$
_	(2	(2
3	$(2a_0 + 3a_1 + 4a_2)$	$(2a_0 + 3a_1 + 3a_2 + 4a_3)$
	$+ \cdots + 4a_{r-1}$	$+ \cdots + 4a_{r-1}$
	$+(2b_0+3b_1+3b_2$	$+(2b_0+3b_1+4b_2)$
	$+4b_3+\cdots+4b_{r-1}$	$+\cdots +4b_{r-1}$
4	$(4a_0 + 5a_1 + 7a_2 + 8a_3)$	$(4a_0 + 5a_1 + 7a_2 + 7a_3)$
	$+8a_4 + \cdots + 8a_{r-1}$	$+8a_4 + \cdots + 8a_{r-1}$
	$+(4b_0+6b_1+7b_2)$	$+(4b_0+6b_1+7b_2)$
	$+7b_3+8b_4$	$+8b_3 + 8b_4$
	$+\cdots + 8b_{r-1}$	$+\cdots +8b_{r-1}$
	$r \cdots + o_{r-1}$	$+\cdots \pm 0 \nu_{r-1}$

3. MAIN RESULTS

Many authors have been constructed the identities of coupled Fibonacci sequences under addition. In this section many of other fabulous properties can likewise be established by induction method.

Theorem 3.1. For every integer $n \ge 0$, $r \ge 0$

$$\alpha_{n(r+1)} + \beta_0 = \beta_{n(r+1)} + \alpha_0$$

Proof: If n = 0, then result is true because

$$\alpha_0 + \beta_0 = \beta_0 + \alpha_0$$

Assume that the result is true for some integer $n \ge 1$

Now by Equation

$$\alpha_{n+r} = \sum_{i=0}^{r-1} \beta_{n+i}$$
 and $\beta_{n+r} = \sum_{i=0}^{r-1} \alpha_{n+i}$

Using induction method for n = n + 1, then

$$\begin{split} \alpha_{(n+1)(r+1)} + \beta_0 &= \left[\beta_{n(r+1)+r} + \beta_{n(r+1)+r-1} + \beta_{n(r+1)+r-2} + \dots + \beta_{n(r+1)+1}\right] + \beta_0 \\ &= \left[\alpha_{n(r+1)+(r-1)} + \alpha_{n(r+1)+(r-2)} + \alpha_{n(r+1)+(r-3)} + \dots + \alpha_{n(r+1)+1} + \alpha_{n(r+1)}\right] \\ &+ \left[\beta_{n(r+1)+r-1} + \beta_{n(r+1)+r-2} + \beta_{n(r+1)+r-3} + \dots + \beta_{n(r+1)+1}\right] \\ &+ \beta_0 & \text{(By equation 2.1)} \end{split}$$

$$= \left[\alpha_{n(r+1)+(r-1)} + \alpha_{n(r+1)+(r-2)} + \alpha_{n(r+1)+(r-3)} + \dots + \alpha_{n(r+1)+1} \right] + \left[\beta_{n(r+1)+(r-1)} + \beta_{n(r+1)+(r-2)} + \beta_{n(r+1)+(r-3)} + \dots + \beta_{n(r+1)+1} \right] + \alpha_{n(r+1)} + \beta_0$$

$$= \left[\alpha_{n(r+1)+(r-1)} + \alpha_{n(r+1)+(r-2)} + \alpha_{n(r+1)+(r-3)} + \dots + \alpha_{n(r+1)+1} \right] + \alpha_{n(r+1)+r} + \alpha_{0}$$

$$= \beta_{n(r+1)+(r+1)} + \alpha_{0}$$

$$= \beta_{(n+1)(r+1)} + \alpha_{0}$$

Hence the result is true for n = n+1.

Theorem 3.2 For every integer $n \ge 0$, $r \ge 0$

$$\alpha_{n(r+1)+1} + \beta_1 = \beta_{n(r+1)+1} + \alpha_1$$

Proof: If n = 0, then result is true because

$$\alpha_1 + \beta_1 = \beta_1 + \alpha_1$$

Assume that the result is true for some integer $n \ge 1$

Now by Equation

$$\alpha_{n+r} = \sum_{i=0}^{r-1} \beta_{n+i}$$
 and $\beta_{n+r} = \sum_{i=0}^{r-1} \alpha_{n+i}$

Using induction method for n = n + 1, then

$$\begin{split} \alpha_{(n+1)(r+1)+1} + \beta_1 &= \alpha_{n(r+1)+(r+2)} + \beta_1 \\ &= \left[\beta_{n(r+1)+(r+1)} + \beta_{n(r+1)+r} + \beta_{n(r+1)+r-1} + \cdots + \beta_{n(r+1)+2}\right] + \beta_1 \\ &= \left[\alpha_{n(r+1)+r} + \alpha_{n(r+1)+(r-1)} + \alpha_{n(r+1)+(r-2)} + \cdots + \alpha_{n(r+1)+2} + \alpha_{n(r+1)+1}\right] \\ &+ \left[\beta_{n(r+1)+r} + \beta_{n(r+1)+(r-1)} + \beta_{n(r+1)+(r-2)} + \cdots + \beta_{n(r+1)+2}\right] + \beta_1 \end{split}$$

(By equation 2.1)

$$= \left[\alpha_{n(r+1)+r} + \alpha_{n(r+1)+(r-1)} + \alpha_{n(r+1)+(r-2)} + \cdots + \alpha_{n(r+1)+2}\right] + \left[\beta_{n(r+1)+r} + \beta_{n(r+1)+(r-1)} + \beta_{n(r+1)+(r-2)} + \cdots + \beta_{n(r+1)+2}\right] + \alpha_{n(r+1)+1} + \beta_{1}$$

$$\begin{split} &\alpha_{(n+1)(r+1)+1} + \beta_1 = & \left[\alpha_{n(r+1)+r} + \alpha_{n(r+1)+(r-1)} + \right. \\ &\alpha_{n(r+1)+(r-2)} + \dots + \alpha_{n(r+1)+2}\right] + \left[\beta_{n(r+1)+r} + \right. \\ &\beta_{n(r+1)+(r-1)} + \beta_{n(r+1)+(r-2)} + \dots + \beta_{n(r+1)+2}\right] + \\ &\beta_{n(r+1)+1} + \alpha_1 \end{split} \tag{By induction hypothesis)}$$

$$= \left[\alpha_{n(r+1)+r} + \alpha_{n(r+1)+(r-1)} + \alpha_{n(r+1)+(r-2)} + \dots + \alpha_{n(r+1)+2} \right] + \alpha_{n(r+1)+(r+1)} + \alpha_1$$

$$= \beta_{n(r+1)+(r+1)+1} + \alpha_1$$

$$= \beta_{(n+1)(r+1)+1} + \alpha_1$$

Hence the result is true for n = n+1.

In the similar way, it could be proved for the following results by induction method.

Theorem 3.3 For every integer $n \ge 0$, $r \ge 0$

$$\alpha_{n(r+1)+2} + \beta_2 = \beta_{n(r+1)+2} + \alpha_2$$

Theorem 3.4 For every integer $n \ge 0$, $r \ge 0$

$$\alpha_{n(r+1)+3} + \beta_3 = \beta_{n(r+1)+3} + \alpha_3$$

Theorem 3.5 (General Theorem)

On the basis of above results, some important result

For every integer $n \ge 0$, $r \ge 0$ are

$$\alpha_{n(r+1)+p} + \beta_p = \beta_{n(r+1)+p} + \alpha_p \tag{3.1}$$

Where p is also some non negative integer.

Proof: If n = 0, then result is true because

$$\alpha_n + \beta_n = \beta_n + \alpha_n$$

We assume that the result is true for some integer $n \ge 1$

Now by Equation

$$\alpha_{n+r} = \sum_{i=0}^{r-1} \beta_{n+i} = \ \beta_n + \beta_{n+1} + \beta_{n+2} + \beta_{n+3} + \\ \dots \beta_{n+r-2} + \beta_{n+r-1}$$

$$\beta_{n+r} = \sum_{i=0}^{r-1} \alpha_{n+i} = \alpha_n + \alpha_{n+1} + \alpha_{n+2} + \alpha_{n+3} + \dots + \alpha_{n+r-2} + \alpha_{n+r-1}$$

Using induction method for n = n + 1, then

$$\alpha_{(n+1)(r+1)+p} + \beta_p = \alpha_{n(r+1)+(r+p+1)} + \beta_p$$

$$= \left[\beta_{n(r+1)+(r+p)} + \beta_{n(r+1)+(r+p-1)} + \beta_{n(r+1)+(r+p-2)} + \cdots + \beta_{n(r+1)+(p+1)} \right] + \beta_p$$

$$= \left[\alpha_{n(r+1)+(r+p-1)} + \alpha_{n(r+1)+(r+p-2)} + \alpha_{n(r+1)+(r+p-3)} + \cdots + \alpha_{n(r+1)+p} \right] + \left[\beta_{n(r+1)+(r+p-1)} + \beta_{n(r+1)+(r+p-2)} + \beta_{n(r+1)+(r+p-3)} + \cdots + \beta_{n(r+1)+(p+1)} \right] + \beta_{p}$$
 (By equation 2.1)

$$= \left[\alpha_{n(r+1)+(r+p-1)} + \alpha_{n(r+1)+(r+p-2)} + \alpha_{n(r+1)+(r+p-3)} + \cdots + \alpha_{n(r+1)+(p+1)} \right] + \left[\beta_{n(r+1)+(r+p-1)} + \beta_{n(r+1)+(r+p-2)} + \beta_{n(r+1)+(r+p-3)} + \cdots + \beta_{n(r+1)+(p+1)} \right] + \alpha_{n(r+1)+p} + \beta_{p}$$

$$\begin{split} &\alpha_{(n+1)(r+1)+p} + \beta_p = \left[\alpha_{n(r+1)+(r+p-1)} + \alpha_{n(r+1)+(r+p-2)} + \alpha_{n(r+1)+(r+p-3)} + \cdots + \alpha_{n(r+1)+(p+1)}\right] + \\ &\beta_{n(r+1)+(r+p-1)} + \beta_{n(r+1)+(r+p-2)} + \beta_{n(r+1)+(r+p-3)} + \cdots + \beta_{n(r+1)+(p+1)}\right] + \beta_{n(r+1)+p} + \alpha_p \end{split}$$

By induction hypothesis

$$= \left[\alpha_{n(r+1)+(r+p-1)} + \alpha_{n(r+1)+(r+p-2)} + \alpha_{n(r+1)+(r+p-3)} + \cdots + \alpha_{n(r+1)+(p+1)} \right] + \alpha_{n(r+1)+(r+p)} + \alpha_{p}$$

$$= \beta_{n(r+1)+(r+p)+1} + \alpha_p$$

$$=\beta_{(n+1)(r+1)+p}+\alpha_p$$

4. SPECIAL CASES

4.1. In this paper two Generalized Fibonacci sequence has been assumed. If r=3 in the scheme 2.1 and 2.2 then the third order coupled sequences

$$\alpha_{n+3} = \beta_n + \beta_{n+1} + \beta_{n+2}$$

$$\beta_{n+3} = \alpha_n + \alpha_{n+1} + \alpha_{n+2}$$

and in similar way, results from above theorems which will be like as 3-order sequence

$$(a)\alpha_{4n} + \beta_0 = \beta_{4n} + \alpha_0$$

$$(b)\alpha_{4n+1} + \beta_1 = \beta_{4n+1} + \alpha_1$$

$$(c)\alpha_{4n+2} + \beta_2 = \beta_{4n+2} + \alpha_2$$

$$(d)\alpha_{4n+3} + \beta_3 = \beta_{4n+3} + \alpha_3$$

4.2. If r = 4 then sequence becomes

$$\alpha_{n+4} = \beta_n + \beta_{n+1} + \beta_{n+2} + \beta_{n+3}$$

$$\beta_{n+4} = \alpha_n + \alpha_{n+1} + \alpha_{n+2} + \alpha_{n+3}$$

and results are

$$(a)\alpha_{5n} + \beta_0 = \beta_{5n} + \alpha_0$$

$$(b)\alpha_{5n+1} + \beta_1 = \beta_{5n+1} + \alpha_1$$

$$(c)\alpha_{5n+2} + \beta_2 = \beta_{5n+2} + \alpha_2$$

$$(d)\alpha_{5n+3} + \beta_3 = \beta_{5n+3} + \alpha_3$$

4.3. If r = 5, then sequence becomes

$$\alpha_{n+5} = \beta_n + \beta_{n+1} + \beta_{n+2} + \beta_{n+3} + \beta_{n+4}$$

$$\beta_{n+5} = \alpha_n + \alpha_{n+1} + \alpha_{n+2} + \alpha_{n+3} + \alpha_{n+4}$$

and results are

$$(a)\alpha_{6n} + \beta_0 = \beta_{6n} + \alpha_0$$

$$(b)\alpha_{6n+1} + \beta_1 = \beta_{6n+1} + \alpha_1$$

$$(c)\alpha_{6n+2} + \beta_2 = \beta_{6n+2} + \alpha_2$$

$$(d)\alpha_{6n+3} + \beta_3 = \beta_{6n+3} + \alpha_3$$

In previous years these results has been proved by many mathematicians [6] with the help of same technique.

On the basis of these now we can construct the relations for different ordered coupled Fibonacci sequences.

5. CONCLUSION

There are many known identities for coupled Fibonacci sequences. This paper describes comparable identities of generalized coupled Fibonacci sequence of rth order, the special cases for lower order were also discussed. Simply the ideas can be extended for generalized coupled Fibonacci sequences of rth order with negative integers.

6. ACKNOWLEDGMENTS

Authors are thankful to reviewers for their valuable comments in improvement of the paper.

7. REFERENCES

- [1] Attanassov.K,Attanassov.L,Sasselov D.,1985. A New Perspective to the Generalization of the Fibonacci sequence,Fibonacci Quarterly 23(1) 1985,21-28.
- [2] Attanassov K T, 2002.New Visual Perspective of Fibonacci Numbers, World Scientific Publishing Company, Singapore.
- [3] Attanssov, K T, 1995.Remark On a New Direction Of Generalized Fibonacci Sequence, Fibonacci Quarterly, 33 No 3,249-250.
- [4] Horadam A F.1961. A Generalized Fibonacci sequence, American Mathematical Monthly 68, No 5, 455-459.
- [5] Koshy T., 2001. Fibonacci and Lucas Numbers with Applications, Willey.
- [6] Singh M ,Sikhwal O,Jain S, 2010.Coupled Fibonacci Sequence of Fiifth Orde and Some Properties,Int Journal of Mathematical analysis,4 No 25.1247-1254.
- [7] Vorobyou N., 1963. The Fibonacci Numbers", D.C. Health and Company, Boston.